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Grover search algorithm

Simon's algorithm

囮 Grover search algorithm

I Algorithm Review

Problem Given a data sets with a labeled elements S EA
we are able to check if a given NEA is the solution or

not

fix t If
our goal is to find target element A using the fewest queries
possible

Classical brute force search IN N

is in theworst case we must query all N possible elements

D on average query half oftheelements
D complexity 044

Grover's algorithm

D oracle subroutine i we are still able to check if a given dment
is the solution or not
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key observation During thecomputation allstates are in the Spanned
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四 Morethan one solution care

Data set N
solution set IE MC N
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IV Greensearch is optimal
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四 Simoni algorithm

I Simon's problem E Hidden subgroup problem

find the period s of the function such that

where addition is bit.wise and modulo 2
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